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DATA COMMUNICATION
e o . dR e [Frfrpem 37 - 70
Time allowed : Three Hours] [Maximum Marks : 70

e () vy sAar g 997 @ fEa ula @ I e
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) TE% Yo7 & g4 Y1 F1 FHER Tk G1Y §F B |

Solve all parts of a question consecutively together.

(iii) Y 597 B 73 78 & IREY Flord |

Start each question on fresh page.
(v) & grersi § 3= §17 1 T § 335 S7ae &8 T 8 |

Only English version is valid in case of difference in both the languages.

1. (iy TCP/IP Thd Hiee #41 8 ?
What'1s TCP/IP reference model ?
(i o HAR fefiest fame | s fafe |
Give difference between Analog and digital signal.
Gy HeelefaaT =i afearfid i |
Define multiplexing.
(v e foies o (ura) i fafirm gfear fofan |
Write different types of error in data link layer ?

(v wfke fafdman? ¢

What is circuit switching ? (2%3)

{
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2.

() OSI Model ) TeI% Td & 11 &1 Hiara Juia HIAT |

Drescribe functions of each layer of OSI Model in brief.
(i) FEA-FRIHIA 7o i FeRT modes T UM ST |

Explain line communication and various transmission modes.

(i) Rk qen frig g SRgfeRae 8 3fat T HifT |
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(6x2)

Explain difference between asynchronous and synchronous data communication.

(i) TTSH 1 F1 HavH 2 ? Gfered § guEey |

What is function of MODEM ? Explain in brief.

ol Jeah susl i foram § gwEmEC |

Explain various network devices in detail.

1 vl o wweIT

(1) CRC (1) ARQ (iii) Hamming codes
Explain the following terms :
(1) CRC (i1) ARQ (ii1)) Hamming codes

() T Fng ? %y e & oy gagEe |

What is Frame-relay ? Explain its advantages.

() Leaky Bucket Terifterm 1 9o Hifsw |
Explain the Leaky Bucket Algorithm.

(i) HDLC Yierhiet S HHETT |
Explain HDLC protocol.

(1) FDDI®NZ ? Gftta § gugmsw |
What is FDDI ? Explain in brief.

freferfiga w wfire feorfomt ferfia -
Write short note on the following :
() st

Topology
(i) I He

Congestion control
(4i) FDM den TDM

FDM and TDM

—————
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(6+6)

(12)

(4x3)

(6+6)

(6+6)

(4x3)



